

Directions

- Multiply each equation by Common Multiple & get rid of fraction.
- Find the matching answer & place the letter above the correct equation.

$$(U) \quad y + 2 = \frac{3}{7}(x + 6)$$

$$(A) \quad y - 3 = \frac{2}{5}(x + 4)$$

$$(T) \quad \frac{5}{6}y = \frac{1}{3}x - 2$$

$$(h) \quad \frac{3}{5}y = \frac{1}{4}x - 6$$

$$(B) \quad \frac{2}{3}x + \frac{3}{4}y = 5$$

$$(f) \quad y = \frac{3}{4}x + 5$$

$$(C) \quad y + 5 = \frac{1}{2}(x - 3)$$

$$(e) \quad \frac{2}{3}x + \frac{3}{4}y = 5$$

$$(S) \quad y + 2 = \frac{2}{5}x$$

$$(d) \quad y = \frac{2}{3}x + \frac{1}{5}$$

$$(w) \quad \frac{2}{3}y = \frac{3}{10}x + 2$$